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Change the following adjectives into adverbs

Adjective Adverb
Sudden Suddenly
21. Slow
22. Neat
23. Dreadful
24, Silent

)

25. Affectionate

Join the words with the relevant pictures

26 Driver

27 Doctor

28 Lawyer




29 Nurse

30 Police

31. Find the value of ‘7’ in the number 5723 (
a. 7000 b. 700 c 70 d.7
32. Which of the following is not a natural number (
a3 b. 10 cl1 d.o
33. One million is equal to (
a. 1lakh b. 1 core c¢. 10 lakhs d. 10 cores
34. what is the denominator in the ?mnnozw (
a. 7 b. 5 c1 d.0
35.The cost of 5 pens Rs. 100. What is the cost of 1 pen (
a. 40 b. 20 c. 10 d. 60
36. A B the AB is called (
a. Line b. Ray ¢. Line segments d. Curved line
37. Which is the smallest whole number (
a. 2 b. 1 c3 d.o
38. Which of the following is an integer (
a. m b. -9 c 18 d.-3.2
39.5kgs = grams (
a. 50 b. 5000 c. 500 d.5
40. ..ll_n:m portion shaded represents (
3 1 2 3
a. .MI b. W [ W d. 3
41. Banana contain ... element required for our body (
a. Potassium b. Gold c. Lead d. Tin
42. Don’t eat the following with empty stomach (
a. Banana b. Pineapple c. Jack fruit d. Watermelon
43. The following is used to preserve fruits (
a. Sugar syrup b. Honey ¢. Formalin d. a&B
44. The word SALAD is derived from SALAT a.... word (
a. Latin b. Greek c. English d. Telugu

4

45.To preserve the food material the following is used

a. Sweet b. Formalin c. Salt d. Chillies
46. Strong magnetic substance
a. Iron b. Steel ¢. Neodymium d. None
47. In calling bell and Electric crane .... is used
a. Bar magnet b. Electromagnet
¢. Horse shoe shaped magnet d. None
48. Generally magnets are made from
a. Iron b. Steel c. botha&b d. None
49, Like poles .....
a. Attracts b. Repulse c¢. Neutral d. None
50. The speed of rain drops per hour
a. 7-18 b. 5-10 c1l-5 d.6-7
51. How many pianets are there In our Solar System?
N6 B)7 cs cd
62. Which gas Is most abundant In the atmosphere?
A)Nitrogen ) Oxygen €) Carbon D) Gzone
53. Which Is the only Natural Satellite to our Earth?
A)Sun B8) Moon C) Mercury D) Venus
54. Zero degree longttude Is called os...

A) Greenwich line  B) Equator C) Troplc of Cancer
5. The time It takes for the earth to revolve around ltself once

D) Tropic of Capricorn

A)30days  B)365 days C) 24 hours D) 30 hours
56. Which of the following ks different? ]
A) East B) West C) North D) South East _
57. Which ks the largest continent in the world? [
A) Africa B) Asia C) Antarctica D) Europe
ggg?:ﬁggsasggn&éoavug [
A) Content maps B) Large scale maps C) Physical Maps D) Politicol Maps
0. Number of states in our country [
A)28 .B2g C)36 D)13
60. What s aiso known as Andhra Kashmir? [
A} Ooty B) Kunavaram C) Lambasingl D) Bhadhrachalam
Marks
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Match the word in A with word in B to make a compound word

21. Hand * Shine g A
22. Sun Board 2
23. Chart Bag 3.
24, Fire Paper 4.
25. Back Place 5.

Pick out the action words in the following senfences.
26. Birdsflymthe sky
27. Theboys jumped onthe kne
28. The old man picked all the dry keaves
29, Father donks coffee m the monrng
30. Grrls and boys walked m a Ine to reach the Bbrary

3. F2x+10=32Thenx= [
N-5 By  O-m D)21

32.  Supplknenmry angleof 130° i)
EVELY B)&* C)so’ D)«®

33. Leastmmnber mbetween-5,-21s (S
A)-4 B)4 Q)s D}-2

34. W. Partofa cake is distnbuted, then rennmms part of the cake { )

4 =

a3 B): O3 D)3

35. One of the acute angk in Right angle triangle is 307 then other
angleis v {-)
A)30® B)s0® C)70? D&®




36. 537 x 10 =

C )
A)5.37 B) 3.7 C) 537 D) 5370
37, Identify the smallest value among in the following. Wm.mm C )
3 2 7 6
A) ¢ = > =
E- B) S 0 D)3
38.  Acuteangle among the following C )
@ m @ _ &) ~ L) AN
A, @ B)@).(v) O)@,@ D)@, G
39.  Anumberwhichis nultiplied by 3 and then added by 5 is equal to 10.
The equation representmg this i € )

A)3x-5=10 B) 3x+5=10 C) 3x+10=5 D) 3x-10=5

40.  Fromtheadjacent figure if £CQP=80° then £Z4pPQ = .

A)100° B) 10°
) 180° D) 90° = a
<fD
4l.  Matchthe following. ( )
1) James Lind ( ) a) Thenmometer
i) Heary Cavendish ~ ( ) b) Hydrogen
&) Gallleo ( ) <) Seurvy
A)i-bii-c.ii-a B)i-c,ii-a.ii-b C)i-c.ii-b.iii-a D)i-b,ii-a,fi-c
42.  Thebaseused in Bleaching powder is ( )

A.Ammonium hydroxide B.Calcium hydroxide C.Sodium hydroxide d.None
43. X-Silkmoths are called "chilakaly® Y- Another name of these moths is "Bombyx mori®

The correct statement is ( )
A)X B)Y OX&y D) None of these

44.  Fmdtheodd one out ( )
A) Movement of hands of clock B) Movement ofbutterfly

C) The fan in an air cooler runaing at fixed speed D) Rotation of Earth
45.  We should not use the laboratory thenmometer to measure our body
tenperature. Because. ( )
A) This shows more temperature than our body
B) This has some barmfud chemical that enters our body
C) Thss doesn't have kink to prevent Mercury level from falling on its own
D) All the above

46.  Tama component of food that makes Ppaper translucent who am1? ( ) i
A) Carbohydrate B)Protein  C) Fat D) Mineral

47.  Kalpana said that all substances whose solutions are neutral are not salts.

example to support her statement i¢ ( )

A) Copper sulphate B) Sodiumchloride () Sugar D) Pottasium chloride
48, Animnl fibre: protein: : plant fibre:? ( )
A) Carbohydrate B) Protein C) Lipid D) None of these

49.  Which of the following statements is correct ( )

1. Thebasic unit of time is second 2, Every objects motion is uniform.
3. The speed of the car is expressed in km/h
A)12 B)2,3 o113 D)1 only
50. D Alcoholcanrecord very low tenmperatures ( )
1)) Its expansion per degree celsius rise in temperature is very high.

A) (1) is true and (if) is false B) (1) is true and (ii) is the reason for ()
C) () s false and (i) is true D) (u1) is true and (3) is the reason for (i)

51.  Change of water into vapour is known as ( )
A) Precipitation B) Humidity C) Evaporation D) Water Cycle

52. Which district of Andhra pradesh is often affected by droughts ( )

A) East Godavari B) West Godavani C) Krishna D) Ananthapuranm

53. Altemate rise and falling of sea water level is called « )
A)Hightide B) Low tide C) Stream D) Waves

54, Cholas were the subordinates to ( )
A) Kakathiyas  B) Pallavas O) Rashtrakutas D) Chalukyas

55. Ocean currents are of kinds ( )
A)2 B) 3 C) 4 D)5

56. At present Orugallu is called as ()
A) Kumool  B) Nellore C) KandhavoluD) Warangal

57. In the months from May to October cyclone form in the __ ()

A) Indian Ocean B) Bay of Bengal C) Arabian Sea D) None of the above

58. The cold currents flow from ( )
A) The poles towards equatorial regions B) The poles towards poles
C) The equatorial regions towards poles
D) The equatorial regions towards equatorial regions

59  Inwhich State of India South West monsoon enter first - « )
A) Kerala B) Andhra Pradesh C) Kamataka D) Tamilnadu

60.  Motupalli pillar inscription was issued by ( )
A) Rudramadevi B) Prataparudra

C) Ganapathi Deva D) Maha Deva
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14. B STOE BiAAr P FH

a gaiig b BfaaTEd  c fd d ARSTHAR
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a TS DY b FIYDHI c arfidis d fERH el
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a TR A b MENH ¢ bR d ST
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21. His mother made a futile attempt to get up

a. Barren b. Limited c. Useless d. Empty
22, It's all tattered now.

a. Spoiled b. Old c. Dirty d. Torn
23. There is cold mist in the mornings

a. Ice b. Snow c. Fog d. Win
24. It's just like a ball of knotted yarn

a.Verysmall b. Joined c. Rounded tightly d. Tied
25. I can’t make both ends meet with my salary

a. Earn a lot of money b. Spend a lot of money

n.,mm_.u just enough money d. Give all that one has
ANTONYMS
26. Costly

27. Strong
28. Fast
29. Heavy
30. Near

K ¥ K AR

31. The value of V3

a. 2.236 b. 1.732 c 1414 d. 2.256

32. The zerovalueof x+ais

a. 1 b. -1 c-a d. 1/a

33. If x=2,thenthevalueofx2+3x+5

a. 15 b. 9 c.8 d. 10




34. If LA=45° then LA is called

a. Reflex b. Obtus c. Right
35. If 2x + 5 = 8 then the value of x
8 3 5
a = b. 3 C 3
36. (-3,5) belongs to __quadrant
a Q b. Qs cQ
37. (-5,-2) belongs to __ quadrant
b. Qs b. Q: c Q:
38. If m =3 and n = 2 then the value of m2 - p2
a4 b. 5 c6
39. The median of 24, 65, 85, 12, 45, 35 and 15
a 35 b. 40 C 45
40. Themode 0f2,3,6,5,2,7,2,9is
a3 b.5 c2
41. The word Science is derive from
a. Latin b. Greek . Persian
42 The disease caused by bacteria
a. Polio b. Swine Flu ¢ Typhoid
43. The following reproduces by budding
a. Amoeba b. Hydra ¢. Paramecium
44. The following is a oviparous animal
a. Pig b. Cat c.Cow
45. Estrogen hormone is secreted by _.
a. Testis b. Pituitary c. Ovaries
46. Units of Pressure
am/s b. m/s? c. Newton.m?
47. The following is a natural fibre

a. Cotton b. Nylon c. Polyster
48. Who is the father of plastic

2. Leo Hendricks b. Baekeland c. Berzelius

49. The hardest material among the following

a Tin b. Iron c. Diamond
50. Identify the metal from the following

a. Sulphur b. Hydrogen c. Mercury

d. Acute

d Q

d Q

d. 50

de6

d. English
d. Corona
d. Verticella
d. Frog

d. Adrenal

d. Newton/m?

d. Acryl
d. Wohler
d. Tungsten

d. Neon

(
(
(
(
(
(
(

SL Faiher of Dutch Cartogrophy

A) Piciemy B) Mercctor C) Aeroreses D) Copemican
52 Which ke talest mountan I the word?

A) tagii B)Gocwn funten  C) Everest D) Mckriey

53. vinat &s sokar rodiation reocting the Earih's suxrface? -
A} nsoiction E) Earthoiction C) Sckar Bodicion D) Eorh Bodizion

54. Tempetaire drop 1cte for every 1000 meters o B roes coovs 20 kevel?

A)3BDegrees  B)28 Degress C) 18 Degees D)6 Cegees
55. The time It takes for the earth fo revoive cround =¥ onca
A) 0 Doys £) 365 Days Cl24 Hoss D)0 Huxs
56. Pecpie of fhe Tundra redion .
A)Yupls B} nupic Cj Hapoons Dj Edres

57. Who gave the sogan "Swardl ks mw birk right™? -
HedGongoarTick BI6OS  (uaningpea 0 DR
58.The year the Quif Inda movement began

A} 1820 B) 1942 C) 1230 0j1e05
58. How many year oids in owr country e elgbie io voiz? [
A20Yeas  EJiBYeas C)2iYeos D118 Yecs
60. In which ciiy ks the Pariament of our country locaied? {
A) Mumbgi B) Kolicta C)New Dexi D] Crennci
Marks
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a wr b 7 c & d A
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a sARET b SO ¢ WA d T

19. FRfRar ™ forg oo & w=r FwmET ?

a WaT b =rg=T ¢ TR d & it g9
2. RFwrRasRoaRe:
afFam bt c Tgt d TR
21. His mother made a futile attempt to get up
a. Barren b. Limited c. Useless d. Empty
22. It's all tattered now.
a. Spoiled b. Old c. Dirty d. Torn
23. There is cold mist in the mornings (
a. Ice b. Snow c. Fog d. Win
24, It's just like a ball of knotted yarn (

a.Verysmall b. Joined c. Rounded tightly d. Tied
25. I can’t make both ends meet with my salary

a.Earn a lot of money b. Spend a lot of money
c. Earn just enough money d. Give all that one has

ANTONYMS
26. Costly X
27. Strong X
28. Fast X
29. Heavy X
30. Near X S
31. Anexample for irrational number
a. V4 b. 3 ) d. V16
32. Thedegree of a polynomial x2+7x+5 is (
a 2 © b1 c7 d.5
33. The complementary angle of 40 is
a. 1400 b. 100° c. 500 d. 60°
34. (-3,-5) belongsto___quadrant (
a Q b. Q4 c Qi d. Qs
35. If AABC=ADEF then MM =
a £y 2 P d¢. 22
EF DF DF EF
36. The sum of four angles of a quadrilateral is (
a. 180° b. 2700 c. 900 d. 360°
37.  Mean of the observations 4, 5, 10, 3, 6 and 8 (
a7 b. 6 c5 d. 4
38. Ifbase =4 cm, height = 5 cm then the area of the triangle is
a. 6cm?z b, 8cm? c. 10 cm? d. 12 cm?
39. Ifthe diameter of a sphere is 7 cm, then the radius is
a. 3.5cm  b. 14cm ¢ Scm d. 6cm

(
(

40.  Ifthe radius =3 cm, height = 14 cm then curved surface area of cylinder(

a. 88cm? b. 132 cm? C. 264 cm? 66 cm?

41.  The outer most layer of the plant cell is (
a. Cell wall b. Cell membrane c. Cytoplasm d. None
)

42.  Power house of the cell is (




a. Chloroplast b. Mitochondria

¢. Ribosome d. Liposome
43.  Thetissue that helps in transport of materials (

a. Meristematic cells b.Dermal tissue ¢ Gerund tissue d. Vascular tissue
44.  Which pigment is present in RBC (

a. Chlorophyll b. Haemoglobin ¢. Haemocyanin d. None

45.  The origin of species was written by (
a. Carolos Linnaeus b. Charles Darwin c. Whittakerd. Haeckel

46.  Rate of change of velocity is called (
a. Momentum b. Acceleration ¢ Speed d.None

47. Laws of motion was proposed by (
a. Galileo b. Einstein ¢. Newton d. Kepler

48.  Latin name of sodium (
a. Ferrum b. Plumbum - ¢ Natrium d. Aurum

49. CaCO03 - Cao + CO2, the reaction is called Chemical (
a. Combination b. Displacement c Decomposition d.Double

displacement .

50. Acceleration due to gravity value of earth is .. m/s? (

a. 98 b. 1.67 c 27.4 d.all

u_.ggguﬂggnwoﬂsgmg:&ga [ ]
A) 1610 KM, B) 1016 KM. C)107.200 KM. D)1,02,700 KM.

mm.#&gwﬁwn__ﬂh&g [ ]
AlToposphere B)Strotosphere C) Mesosphere D} lonosphere

53. The only planst that ks In confoct with Bfe ( ]
A)Sun 8) Moon C) Mercury D) Earth

54. Which season begins across the country with the amval of the southiwest monsoon l I
A) Khef 8) Rebi C) zaid D) None

mm.?ogdrggoﬂo&gng | J
Alron ond Steel industry - g) Coton Textle INOWStry €) Sugar industry D) Jute Inciusty

56. District Coliector beiongs to which sacior? [ 1
A Aaricuiture Sector Blhdustrial Sector  C) Service Sector  ~ D) All the above

57. Who invertied the Printing Press? I 1
AlNewton . B) Einstein C) Charles Bobbage  b) Gutenberg

B8.The revolution fook hihs A i { ]
zmMM“u gmq“uo 8..395.» 0} Gemany

$58. Who discovered the sea route fo ndia? [ ]
A Mogaion B} Vasco-ae-Gema C) Columbus D) Coptain cock

60. The man who founded he secret society "Young ialy” [

A) Bsmorck 8 Cavour C) Mczzri Dj Louss
Marks
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